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Question 3 of 16

State whether L'Hopital's Rule applies or not.
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Evaluate the limit using L'HOpital's Rule.
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O Q/\ J&‘ w &/V\ key: In and lim commute (swap order)
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Consider the function f for which f’ and f” have the following sign combinations: ++, —+, ++, — + . Note that the first sign in
each pair represents the sign of the first derivative, and the second sign in each pair represgnty the sign of the second derivative.
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Select the graph of f. C. l/‘ \
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m f(x) = x> — 4x* + 8x + 3 is increasing, decreasing, concave up, and concave down.
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